ANY UNAUTHORIZED USE, DISCLOSURE, DISSEMINATION OR DUPLICATION OF ANY OF THE INFORMATION CONTAINED HEREIN MAY RESULT IN LIABILITY UNDER APPLICABLE LAWS.

THIS DOCUMENT CONTAINS COPYRIGHTED MATERIAL AND TRADE SECRET INFORMATION BELONGING EXCLUSIVELY TO WILLAMSON DACAR ASSOCIATES, INC.

METAL STUD (50KSI) AND PLYWOOD CONNECTIONS:

1. 5/8” THK FRT PLYWOOD SHEATING. PROVIDE #8—1 %’ 10. 16ga. CLIP ANGLE W/(2)#12 TEKS FROM CLIP TO MTL STUD

S—12 ROCK ON SCREWS AT 8” 0.C. ALONG STUD SPAN FLANGE AND (2) 1/4"¢x1—-3/4" TAPCONS FROM CLIP TO "

FOR PLYWOOD TO MTL STUD FLANGE CONN. CMU WALL. MAKE CLIP ANGLE FULL WIDTH/HEIGHT OF MTL I.OHNSON
2. 6", 16ga. CEE MTL STUDS AT 16" O.C. STUDS. TAPCON EDGE DISTANCE 1 1/2” MIN. & rucTuRaL
3. 3 5/8” 16ga. CEE MTL STUDS AT 16" O.C. 11. 16ga. CLIP ANGLE W/(4)#12 TEKS FROM CLIP TO MTL STUD B

» » WEB CONN. AND (3) 0.205”¢ POWDER FASTENERS FROM

4. 2 1/2”, 16ga. CEE MTL STUDS AT 16" O.C. CLIP TO STEEL BEAM CONN.
5. 16ga. CLIP ANGLE W/(3)#12 TEKS FROM CLIP TO MTL STUD MAKE CLIP ANGLE FULL WIDTH/HEIGHT OF MTL STUDS.

WEB AND (3) 1/4"#x1—-3/4" TAPCONS FROM CLIP TO CMU
WALL. MAKE CLIP ANGLE FULL WIDTH/HEIGHT OF MTL STUDS.  12. 16ga. CLIP ANGLE W/(2)#12 TEKS FROM CLIP TO MTL STUD

TAPCON EDGE DISTANCE 1 1/2” MIN. WEB CONN. AND (2) 0.205"¢ POWDER FASTENERS FROM
CL'P TO STEEL BEAM CONN MAEFilsdf)%c:\IOSO;\IBg:;E #51983, SECB
(3)#12 TEKS FOR MTL STUD TO STUD CONN. MAKE CLIP ANGLE FULL WIDTH/HEIGHT OF MTL STUDS. 3500 NW. Boca Raton Bivd Suite 4613
5)#12 TEKS FORM STUD FLANGE TO STUD FLANGE AT ENDS R (P)(561) 982-8999 (F)(561) 982—8899
<AN)|S¥ EQUAL SPACING. 13. PROVIDE BRIDGING AT 5 -0 0.C. MAX. ElwljoIr-lnh?srl(()‘o‘grrﬁrfjs@{]ﬁrg%fg](;ﬂ'com
8. CONT. 18ga. MTL ANGLE. USE (2)#12 TEKS FROM ANGLE 14. L5x5x/4 LLV, CONTINOUS. COPIRIGAT () 2016 JOHNSON STRUCTURAL GROUP, G
TO STUD CONN. TO PERPENDICULAR BMS: %" FILLET WELD FULL LENGTH,

BOTH SIDES OF ANGLE.

9. PROVIDE MATCHING TRACK W/ (1) #12 TEK PER FLANGE.

Architect: AA 0002541

Engineering: EB 0006884

““|I|Ill",'
\)

l,'

SN \\CENSg "*.- '2
@ I 7 No.s1983 %

ks * s %

NOTE 9 2 STATEOF S
“' O o L

", RS
NOTE 6 NOTE 9 2’%\'.. FLOR\DP‘...' NS

NOTE 1 & 3
Digitally signed by Mark

NOTE 8 NOTE 6 @ EXTREME ENDS ol et

: T/PARAPET - Date: 2016.07.05 06:25:15

L NOTE 6 o
EL+22°—8" 04'00

NOTE

\\ @
1o
N
-%
~
e
>
—
>3
I"'

T/PARAPET $
EL+22'-8 NOTE 1 & 3 NOTE 1 & 2
- NOTE 8 —
NOTE 6 7 /,_ NOTE 11
.~ o NOTE 7 ——— |
| — NOTE 3 NOTE 1 & 2 ———
NOTE 8 e NOTE 1 & 4 —p—— |
T/CMU___ m > — 1 I L— NOTE 5. (1) CONN. AT TOP OF NOTE 5. (1) CONN. AT TOP OF —< T/CMU___ :c;";
EL+20'-0 - e ¥ PARAPET, THE OTHER CLOSE TO PARAPET, THE OTHER CLOSE TO EL+20-0 >
T/w sS4 i DECK. MIN 10" APART @ GRID A. DECK. MIN 10" APART @ GRID A. . 8«
EL+19—7 3/4 <™ s N HE . [
STL BEAM, SEE PLAN U > R e o s e e e e BUILT-UP ROOFING —| ' | L = g
A F‘ -l ” § . ~
JST. BRG. ) / < 7T Y N_ BUILT—UP ROOFING ON 1 1/2" DECKING % AN \ . 6 Iy
EL+VARIES $ Lax4x}i” & NOTE 11 T T e ON 1 1/2" DECKING [ WEFTIL]) 8B305 Lo ~
g ) ‘ ="t N | JST. BRG. % aP 3
] 275 : L ) i \ EL+17'-2 1/2" ol <
A NOTE 10 = / \ [ I TB202 — 8 i
BB301 / \i N— STEEL JOIST ..: / 1T -I - E
TB201 L— HH £ SEE PLAN e F—H % 0 %
8" CMU SEE PLAN - STEEL JOIST —] 0 H Z IO g
FOR REINFORCEMENT / — @ SEE PLAN ‘l T 9 I.I_.I -
NOTE 6 ZE: — 2 S 3
/ { \ 841/ ‘l; =2
NOTE 1 & 3 | H H H b 5
NOTE 3 0L 8” CMU SEE PLAN —1 % Z
; i b / FOR REINFORCEMENT g < (@]
P =
NOTE 10 |.I_.I
et o
—— L { |
™ ; ; Revisions of Drawings
B/HEADER ﬁ ;.. H & No. Date Revisions
EL+10’_O" / g g
H H A 07.01.16 | DESIGN REVISION
NOTE 6 | ||
NOTE 9 | |
NOTE 3
CB201
— | S
STOREFRONT / ; ; Issues of Drawings
SEE ARCHT,L E E No. Date Issues
~{ 1 | 061516 [100% CD — PERMIT SET
CMU PIER \
BEYOND CMU PIER BEYOND
SEE CIVIL/ARCH’L o d . SEE CIVIL/ARCH’L
FOR SIDEWALK INFO. 47 THK. 3.0.G. 4 THK. S.0.G. p—¢ FOR SIDEWALK INFO.
- - ~ HH [ Phase:
T/SLAB $ ,/ Y 4 0| AN ¢T[SLAB =
EL+0'-0" ] ] I ] ] e : : =] o —H I Il T EL+0—=0" Checked:
| H H z zl | Drawn: 1/2'-1'—0'
T/FTG ; ; ; ;I T _:_ T/FTG Drawing Tiltle
EL-1"—4" o 1 1 EL-1"—4" STRUCTURAL
| | WALL SECTIONS
e L
/ /

w w WDA Proj. No.: 1526-01
Owner Proj. No.:

Scale:

Sheet No.

") ERONT CANOPY WALL SECTION 0 JBACK WALL SECTION

SCALE: 1/2"=1"-0" SCALE: 1/2"=1"-0" 83 2
]

No. of Sheets.:




		2016-07-05T06:25:15-0400
	Mark Johnson, PE 51983




